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2.3 Standard Form Guided Notes
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Ex 1: Hanna will spend $150 on tickets total. Each VIP ticket costs $25

and each General Admission costs $10. How can you represent this
situation with a linear equation? «w Restrction
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Graphing Equations in Standard Form
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Converting from Standard Form to Slope intercept Form
Ex 3: A)H’Bl,j — Y=mx+b
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Writing Equations (5 J O)

. Ex 4: Write an equation in standard form that has an x intercept of 5 and a
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Ex 5: Write an equation in standard form that has an x intercept of 6 and a
y intercept of -1.




